DIRECTORATE OF SCHOOL EDUCATION

TAMILNADU
11JPCMO2 | JEE PRACTICE QUESTIONS | ==X
(2023-24) (TEST-2) Total Marks: 180
General Instructions:

1. The test is of 1.15 hrs duration and consists of 45 questions. Each question carries 4 marks. For each

incorrect response, one mark will be deducted.

2. Shade your final answer in the OMR sheet provided.

3. Extra sheet for Rough work purpose, will be given by the invigilator.

PHYSICS Q.No. 1 to 15

1. A car covers the first half distance between two
places at 40 km/hr and the other half at 60 km/hr
the average speed of the car is

A) 120 km/hr B) 48km/hr
C) 50km/hr D) 24km/hr

&HMJ @ TevoT(h QL MIGHEHSH G @6 LILIL L 66edTm
WH6L T LUGH Qsmemevenal 40 km/hr LG
ML LG QS memevenel 60 km/hr Geud g H svild
HLEHMG erefley smifler Frnaf]l CalsHemns
5600185 (h &

A) 120 km/hr
C) 50km/hr

B) 48km/hr
D) 24km/hr

2. A particle moves a distance x in time t according
to the equation x = (t + 5)..  The acceleration of
particle is proportional to

A) (velocity)*?
C) (distance)™

SIGET RTM X QHTemneVenal t &HTe 6emeiley
X = (t+5)" 6TedT FLOGTUML Q60T LI SHLSHRMSI.
sisaflar WhH&eHD Letal@md 6hs emellhES
CBI&HEHEHM 6 S MDH M.
A) (B e &FCaussLn)>2
0) (Qzmem6ve)?

B) (distance)’
D) (Velocity)*?

B) (A& Mem6v6))?
D) (B em&FBeuss D)3

3. A ball is dropped from a high rise platform at t =0
starting from rest. After 6 seconds another ball is
thrown downwards from the same platform with a
speed v. The two balls meet at t = 18 s. What is the
value of v (Take g = 10 m/s?)

A) 75 m/s B) 55 m/s
C) 40 m/s D) 60 m/s

@@ 2 WISSLILLL Bl CenL_uiledlmnha t = 0
66T &HMeV jaTalley lla] Blemevulev 2 a6
Ub& eetml BCL allmm QEFWWLILGS M.
6 BIWLEHMG LT HelL Ceml uledmbs
HAMTH LUHS 26 CaussHe) GG ell(WpLnmm)
QFUWLILGSRDmE. t=18 elermgse  Leor
QOUHSSHED  QRETEOMEOWITEIN  FHESSHTeV
v-60T L0G\LILITeoTSl
A) 75 m/s

C) 40 m/s

B) 55 m/s
D) 60 m/s

4. A balloon is at a height of 81 m and is ascending
upwards with a velocity of 12 m/s. A body of 2 kg
weight is dropped from it. If g= 10 ms™, the body
will reach the surface of the earth in

A)15s ~ B)4.025s C)54s  D)6.75s

81 m 2 WISHL 2 6Tem LI ep6dTmi 12 m/s
FenFCeUsHSHev GLeVWH M. HS
Ligumentled (5 & 2 kg Bl6tY M U6 QILIM([H6em 6T HGLD
alW@mm Q&L LILLTeL QU6 Ljaflenul
S|6ML_L|LD SIT6VLD 6T60T60T? (=10 m/s?)

A) 1.5s B) 4.025s C) 54s D) 6.75s

5. A stone falls freely under gravity. It covers
distances h , h, and h, in the first 5 seconds. The
next 5 seconds and the next 5 seconds respectively.
The relation between h , h) and h, is
A)h =lh =h, B) h=2h, = 3h,

C) h=h/3=h/5 D) h=3h and h,=3h,
&6V eertm  LFFLUL  elemFwmey  &HGCL
AWREMS. HHO (NG6V, GI6EUUTLITID DMHMID
epeTmmd 5 BILBIsS6flev WemmCuw &HLbBS
Qg memevey h, h, LOMMILD h, etesfleb h, h, h, &&
Qe LILIL L Q&ML

A h, =Th, =h,

Q) h,=h,/3=h,/5

B) h,= 2h, = 3h,
D) h,= 3h, and h,= 3h,



6. A body moves with initial velocity 10ms™.
If it covers a distance of 20 m in 2s, then the
acceleration of the body is

A)yzero B)l0ms? C)5ms? D)2ms?

@ QUITH6T 10ms” QFMTL&HEHS HenFCalshsH 6V
QEFELVRME. @Hs QUTIHeTTTS 2 aflermiguiey
20 ISLLT Q@memevenal &LEHMG  6revfley
Qum@erfledr LNHE&SELD WIMSI?

A) &L B) 10 ms=2 C) 5 ms>2

7. Two balls A and B of same masses are thrown
from the top of the building. A, thrown upward
with velocity V, and B thrown downward with
velocity V, then

D) 2 ms>

A) Velocity of A is more than B at the ground
B) Velocity of B is more than A at the ground

C) Both A & B strike the ground with the same
velocity

D) none of these
@55 BlemDWenLw A LHDID B 66D @)
UBSIGH6T 2 WFnmer &L LLGH 6T  Gedmba
LGS maE. A wrergl CLCHTHS  V
HnFCamESHNIN B wWmersl S CHMEHESH V
FensFGalsHs e evd erWLILIOSH M eTeofl6l
A seorguilley A-eT HemsGeausksld B & el
2B\ &1D
B) ZeTuley B-aoT Hem&FGeusd A & el
F&1D
OA & B &6y HamsGassHen Sanruied
allwlb
D) GO & 60oTL 6116 L6V 6mI6V
8. A cricket ball is thrown up with a speed of
19.6 ms™'. The maximum height it can reach is
A) 9.8 m B) 19.6 m

C)29.4m D)39.2m

AflHesL. Ubhs  @arm 196 ms'  CaussHev
CCHTEHEE eMWILGHRMS. AIUBS LWL
QU@L 2 WFLD.
A) 9.8 m
) 294 m

B) 19.6 m
D) 392 m
9. A cat moves from X to Y with a uniform speed

V, and returns to X with a uniform speed V. The
average speed for this round trip is

2V,V,
A) VdiVu B) v VuVu
\VAA V.+ V.
O w5V, D) =5

LLEM6OT R60TMY V, 6T60TM EFTmeor HemaFGeausHs 56y
X 0®mbg Y &6 QFvHma. Gaild V, eerm
Ermer HenFCaussHe LMILQUIID X &&
SGLURDS. AHOT QLTSS GUISESS 6T
FrraFf] GeusLd SITeoors

2V, V.,
A) V+V, B) vVu Vs
V. V. + V.
OwEy D

10. A boat crosses a river from port A to port B,
which are just on the opposite side. The speed of
the water is V, and that of boat is V, relative to
still water. Assume V, = 2V . What is the time
taken by the boat, if it has to cross the river di-
rectly on the AB line.

2D /3D
A) VB\/§ B) 2VB
D D2
O V2 D)=

SNUWSD A BHa HTHenFuley 2 6T
SOMUNSHID B &G LLG Q6T QFHRMSI.
1B 60)6V WL 60T BenrL QUITMIS Sl 1B fl 6ot
HemgGausd V, LHID LLHT HengGeausid
V,. 'V, = 2V, etefleb AB G&ML(H Hlenguley LILG
LW6DITLD QEFUWSITL Mmenms &HL&HS LILG
dHHSI5 Q& mevorL GHBITLD.

2D /3D
A) AWE) B) "2V,
D D2
©) Va2 ATA

11. The velocity of a bullet is reduced from 200m/s to
100m/s while travelling through a wooden block
of thickness of 10cm. The retardation, assuming
it to be uniform, will be

A) 10 x 10* m/s?
C) 13.5 x 10* m/s?

B) 12 x 10* m/s?
D) 15 x 10* m/s?

10 cm SIQINET 2 6TeT DJHEHL LMW  SHeMeTHS
QD FLILUTES Gevor(h eeTmle HlenaFCalssin
200m/s ed@BBHS 100 m/s &E& GOMB M. (G 600TLq.60T
Frmetr eTHTWH &SI,

A) 10 x 10* m/s?
C) 13.5x 10* m/s?

B) 12 x 10* m/s?
D) 15 x 10* m/s?
12. The acceleration a of a particle starting from rest

varies with time according to relation a = at + f.

The velocity of the particle after a time t will be
2 at’
A) 4 B) 2 *A

C) at'+ 1 gt D) @ h)



QW MmIGLD
6T60TM
&HITev

eualdeha a2 WHEHSH 0
Qum(perfleor WH &SI a=at+B
FeTUTL LT SGIULLUGSmE. t
jerallev Fiserfler HenaFCalsin

A) B) 4-+Bt

Q) at’+ 5Bt D) @ H)

13. Starting from rest, acceleration of a particle is
a = 2(t-1). The velocity of the particle at t = 5s is

A) 15m/s
C)5Sm/s

B) 25 m/s

D) None of these
@ualedmphs Qs giseaflar wWwhesLID
a=2(t-1).t = 55 6L ZIG6IfleT HenFCousHLD

A) 15m/s
C)5m/s

B) 25 m/s

D) @eummlev eTgi6]Lllevemev

14. Two bodies of different masses m and m, are
dropped from two different heights a and b. The

ratio of the time taken by the two to cover these
distances are

A)a:b
C) Va : Vb

B)b:a
D)a,:b

m, HMID M, Blenm Q&Teoor. @)@ © LIMHL &6
a wmHmib b eerm 2 wWFsEHONBHS HECL
WLILGSMG. @QbHS 2 WJHISHNET HL 55
QUL G6T T(N&HSIE GQ&MEoTL. &5TEVHIg6rfleoT
DI ThE

Aa:b B)b:a

C)Va: Vb D)a,:b,

15. A body starting from rest moves with constant
acceleration. The ratio of distance covered by
the body during 5th second to that covered in
5 seconds is

A) 9/25
C) 25/9

B) 3/25
D) 1/25

RUINIMHS @UIGHSH Blemevsh & QEFsILD

QUITB6T e6Tm  LTMTEH WHEHSH 6V
QURIGHR M. 56Ul LnMHMILD 5 efleormig serflev

QUITHET FHLEGLD Q& Tem 6V 6 5 61T 60T
& 5LD.

A) 9/25 B) 3/25

C) 25/9 D) 1/25

CHEMISTRY Q.No. 16 to 30

16. The equilibrium constants of the following are

2NH; == N, +3H, K,

2NO==N,+0, K|

k 1
H2O —H,+ 502 K3
then the equilibrium constant (K) of the reaction
2NH; + %Oz == 2NO +3H,0 will be

A KK} K, B) K,K | K,

CO) KK, K, D) K, | KK,
LD 55 600T L 619160 60T 55 (615 & &5 IT60T FLomlemnev
omniledl s et

2NH; === N, +3H, K1

2NO == N, +0, K,

H,0 <~ H,+ 0, K,
25 @BSGLD GLITE 2NH. +30; =— 2NO +3H.0
6T6oTM leMm TS MeuT FLnMlemev Lomiled)

A) K K? | K, B) KK | K,

Q) KK, | K, D) K, | KK
17.1f the value of an equilibrium constant for

is 1.6 x 10", then at
equilibrium the system contains

a particular reaction

A) all reactants
B) mostly reactants
C) mostly products

D) similar amounts of reactants and products

em GOUNLL  allemerulledr  FOBleMIEL
orpjleduller  WHLILIMeTS) 16 x 102 95
@@REGID CUME HS Foblemey emnliLlev
@ouusg

A) ST SN 6l6m 60T LI(H G LITIH 6T

B) :H& LILFIOMS ellemeor () GLITIHeT

Q) H UL EFLD ellement ellemer QLITIH6T

D) elemesT LI(GIQUIM[H6T LoMmmild elemeoredlemer
QUITIHET FLODMS @) (H&SH6V

18. The value AH for the reaction x,  +4y, = 2xy,
is less than zero. Formation of xy o will be
favoured at

A) Low pressure and low temperature
B) High temperature and low pressure
C) High pressure and low temperature

D) High temperature and high pressure



Xt ag™ 2y AH<0 QB a&]@arru_ﬂsu Vg
2 ([B6UTeUSDE TN [BILIHS 60 60Ta6T
A) GODHS WSS GOMbHS GeuliLibleneu
B) 91&& GeuLILBlemev GenMHS H(WDSHSLD
0 2H& WSS GODHS QeuLILIBleane
D) 15 & QeuliLBlenev SH& W HSD

19. The rate constant for forward and backward
reaction of hydrolysis of ester are 1.1 x 10”?m!
and 1.5 x 10°m™" equilibrium constant for the
reaction is

A)4.33 B) 5.33
C)6.33 D) 7.33
eTervLfl 60T BrmrHusLiy aflemeoruilev

(WDeTGETMEG WMmILD LNetTGeorTmE: & elemeorudleor
allemeorGeuss OMMIES 1.1 x 102 B WHMILD
1.5 x 102 Pl @Bs alleneTuier Fmleney
omled)
A) 4.33
C)6.33

B) 5.33
D) 7.33

20. For a reversible reaction, if the concentration of
reactants are doubled, the equilibrium constant
will be

A) one — fourth B) halved
C) doubled D) the same
@M Warallemeruled  allemeoriiGIQ LI Herfleor

Qailey @ueor(h LLMBISTGLWD CLITE, FLOBleney
mmledlullesr LGILIL]

A) BTETE6L ([ LOLMIG AFH &6 EGI0D

B) @U6U0TI460 (1 LOLTBIE A &S G0

Q) @uevor(h) LOLMBI&TEGLD

D) 6T6& LOMDHMHEALD QBEHSTS!
21. In which of the following equilibrium K and K,

are not equal?

1) 2NO, = Ny + Osq

11) SOs¢ + NOs = SO + NO,

1i1) Ha + Ly = 2HI,

V) 2Cy + 01 = 2CO0¢

A) (i,ii) B) (ii, iv)

O) (@, iii, 1v) D) none
BLosevorL 6ThG ellementwilev K, LoHmud K. oHaiLd
FLODMS Q(H&HEHTSHI?

) 2NOy) = Nag + Ose

i) SO2 + NOs = SOse + NO

iii) Hog + Ly = 2HI,

iV) 2C) + Oup = 2C0sg
A i, ii) B) (i, iv)
Q) (i, iii, iv) D) @eummlev eTgia]Lllevemev
22. If ais the fraction of HI dissociated at equilibrium
in the reaction, 2HI =H, + I, starting with 2

moles of HI, then the total numbers of moles of
reactants and products at equilibrium are

A)2+2¢ B)2 Ol+a D)2-a

2HI =H, + 1, 61601 &loplemev eflemeoruiley Hieor
FengelemnL_G6V LNeTerd o GLOMEVITHE LD 8560
QBTLES Q&FMle] 2 CLOMVGETTHA|D @) [HHS TV

Fplemevuiley ellemeTLIGHIQUTIHETEHET  LDMHMILD

aflemeoralemrem QUIT(H6TSs 6rfl6dT QLTSS
GLDTeL &5 6rTl 60T 6T6v0T 00T | 8560085
A)2 + 2a B) 2 01+« D)2 -«

23. For the equilibrium MgCOs — Mgog,) + COx
which of the following expression is correct?

A) K, =P, B) ¢ - (Mgo)(CO,)
) K =Peo ) K, (MgCO»)
Q) K, = Tmlo: D) all the above
ngCOl
MgCO3(s) ‘é MgO(s) + COz(g) Grg&rm g LDS]@G\)
allemeotuilev 618! FflUITeoT Fohm?
A) K, = Pco, B) K. = (Mgo)(CO>)
P P P (MgCO;)
OK=—p = D) @)6%)6U WI60D60TS SILD

24. The value of equilibrium constant of the reaction
Hl, = %Hz + %Iz(g, is 8.0 then the equilibrium
constant of the reaction Hu + Ly = 2HI will be

A)1/16 -~ B)l/64 C)16 D)1/8

HI<g>=%H2+%Iz(g) eTedTm  ellemeoTulledT FLnmBlemev

LDle]QS]U_(ﬂa)T LD@UL] 8.0 er6ofley Hoe + L = 2HI,
6161 elemeotulledT FLnmBlemev LmmleSluf 6t LDGHLIL
A) 1/16 B) 1/64 C) 16 D) 1/8
25. The reaction quotient (Q) for the reaction,
. . _ [NH:F
Now +3Ha, = 2NH,, 1S given by Q = INILT
then the reaction will proceed towards right side
if
A)Q=0
C)Q<K,

B) Q=K.
D) Q>K.

Nog+3Hap = 2NHs,,  6T60TmD 6606078 & 600185 D

Q=% eTeoflev @HS aNlemeT aIEVSILIGEHLD
5 J6USMT60T [B] LI5S 60)60T

AQ=0 B) Q = K_

0 Q<K D) Q > K.



26. Partial pressure of O, in the reaction
2Ag:0¢ = 4Agy + Oup is
A)K, B)VK, CO)3VK, D)2K,

Glos e allemertuiley O, 6T LGS S(WHSHLD
eTaTLIgl 2AL: 06 = 4Ag6 T Oy
A K, B) VK, Q) 3VK, D) 2K,
27. 2805 + Oag = 2SO In the above reaction K,
and K . are related as
A) K, =K_x (RT)
B) K, = K_ x(RT)"
C) K. =K, x (RT)
D) K, =K_ x (RT)>
28054t O2 = 2803 @euefemeorufev K, ommith
K. @S Weuhmlhsmer Qg ML
A K, = K_x (RT)
B) K, = K_ x(RT)"
O K, = K, x (RT)?
D) K, = K_ x (RT)?2
28. Which of the following graphs represents an exo
thermic reaction

Nl Bl
1 1
% %
0) < D)
KP
1 1
5 %
G LD 856007 L_6) (D M1 61T 6TEUGUEMTLIL LD QauLlLl

2_flbellementeniss GMILILNIOSMS.

29. For the reaction N,+ 3H, = 2NH; the initial
mole ratio of N, : H, is 1 : 3 at equilibrium only
50% has reacted and equilibrium pressure is P.
Find the value of PNH3 at equilibrium.

A)P/3  B)P5 C)P9 D)P6

N2+3H2 - 2NH3 @6516)5]60‘)66[@6\) N2 : H2
B Weammlerr oL Cumeuseflar &g
1:3&wmleneuuilev 50% allemet (D1 HS Blemevudlev,
FLOBleneV WSS P erevfley Flomlemeuudley Paw,

MW 560015 H) (H 5.

A) P/3 B) P/5 Q) P/9 D) P/6

30. The equilibrium constant of a reaction is 300.
If the volume of reaction flask is tripled, the
equilibrium Constant is

A)300  B)600  C)600 D) 100

@ allemeoruwiledr Fnmlemev WMMleduledT GHLIL]
300. &16M60TSH6V60T160T HEOT 2{6IT6Y CLOGITMI LOL MBI

2 WISSLILLLTE, &Floplemev  omnledlulleor
WG]
A) 300 B) 600 C) 600 D) 100

MATHS Q.No. 31 to 45

31.1If sin O and cos 0 are the roots of the equation
Ix2+ mx +n = 0 then,?

A)I?—m?+2In =0
B) 2+ m?+2In =0
C)PP-m?>-2Iln =0
D) P+ m?>-2Iln =0

sin O LMHMID cos O eTeoTLIEOT IX2+ mx + n =0 6T6edTM
GFLOGOTLITL_19.60T ELOGV RIS 6T 6T60f160

A P-m?+2n =0

B)IP+m?+2n =0

O PP-m?>-2In =0

D)P+m?=2In=0
32. If a, B and y are the roots of 2x*> — 5x + 1 = 0 then

sum of the root is

A)0 B) 5/2 C)-2 D)1

2x3=5x + 1 =10 6T60TM &FLOGOTLITL Q60T ELNGLMRIGHET q,
B LOMMILD v 6T6vfl6v, eLNEV IS 6Tl60T Fo(h) &6V
A0 B) 5/2 Q-2 D) 1

33. 2cos*x — 5cos x + 2 = 0 for principle value of x,
then the solution in degree is

A) 90° B) 60° C) 45° D) 30°

X- @) 60T (PG 6oTem L0 LDH LILN MG 2cos’x — 5cos x +2 = 0
6T6OT (D FLOGOTLIML19.60T ST6) Limemdsuilev
A) 90° B) 60° C) 45° D) 30°

34. If (1 — p) is a root of quadratic equation x> + px +
(1 —p) = 0 then its roots

A) (2,0) B) (0,1)
©) (0,-1) D) (1,)



(1 — p) eTedTLIG X2 + px + (1 -p)=0 eTedoTm E)HLIY
FLOTUML Q60T  eN6VLD  6T60fl6V  SFLOGOTLIML Q65T
Srey

A) (2, 0) B) (O, 1)

Q) (0, -1) D)(1,1)
35. 2 and 3 are roots of 2x* + mx? — 13x + n = 0 then

m, n and its third root is

A) (-5, 30, -5/2)

B) (5,30, 5/2)

C) (-5, 30, 5/2)

D) (-5, -30, 5/2)
2 IDMMID 3 eTedTlGl 23 + mx2—13x +n =0 6TedTm
FLOGOTLIMTL_L.60T @)(IH CLO6VIBIG6IT 6T60f160 M, N LOMHMILD
ELPEITDITEUS ENEVE Bl6tT LDFHILILY

A) (5, 30, =5/2)

B) (5, —30, 5/2)

Q) (5, 30, 5/2)

D) (-5, —30, 5/2)
36. If the product of roots of the equation (a + 1) x> +

(2a+3) x+4 = 0 is 2 then sum of the root is

A)52  B)-52 ()32 D)-32

@+1)x+Ra+3)x+4=0 6T60TM @ @mULg
FLOGOTLIMLLQ.60T eLO6V IS 61Tl 60T Q) LI([H&H &6V 2 6T6vT 16V
eLN 6V G 6rf160T o (D) &6V

A5/2  B)-52 ()3/2 D)-3/2

37. The quadratic equation with real co-efficients,
one of whose complex root has the real part 12
and modulus 13 then the equation is

A)x*—12x+13=0

B)x*+24x+13=0

C)x*—24x+169=0

D) x*—24x - 169=0
QLOUI  6TEOOTHEMET QH(PSHEHETMH GG IT6o0TL
@)\ (LY. &FLOGDTLITL 19 63T 86VL1G)LIGDOT eLO 6V i &5 61Tl 6oT

QUUILGH 12 WMHMID 95607 LG WHLIL 13
6T60T 16V & LDEOT LI L IT6OT S

A)x2-12x+13 =0
B) x>+ 24x +13 =0
O)x2-24x+169 =0
D)x?-24x-169 =0
38. If the equation x> +ax +b=0and x> +bx +a=0
have a common root, then the value of a + b is

A)0 B)-1 O1 D)2

¥ +ax+b=0 DOHMID x> +bx+a=0 WHW
FLOTUTHSHEBHGSD @@ GCLIMTSIGUTET  eL6VLD
@ ®LILN6IT a + b-60T LDHLIL]

A0 B) -1 o1 D)2
39. If a, B are the roots of the equation x>+ px +q=0
and vy, 6 are the roots of x> + px —r = 0
the value of (a0 — y) (a0 — ) is
A)—(q 1) B) (qt1)
C) (—qtr) D) (q-1)
X+ px+q=0 6T60TM FLOGTLITLIQ60T eLOEVKISET
o B LOMMILD x>+ px —r = 0 6T60TM &FLOGOTLITL Q60T
ELOGVTBIGET v, 8 6T60fl6V (a—y) (a—8) 60T LnGLIL
A)—(q +1) B) (q+1)
Q (=q+n) D) (g-1)

40. Let f(x) be a quadratic polynomial such that
f(—1)+f(2) = 0, If one of the root of f(x) =0 is 3,
then its other root lies on

A) (1,3) B) (-1, 0)

C) (_3: _1) D) (09 1)
f=1)+f(2) = 0 eTedOTMGEUTM 2 6T6m f(X) @@H @UHLIL
Leuaw MLl G&memel Goswiln f(x) = 0 —@)60T &(H

eOGUID 3 eTedflel LOMGAMMEH CELPEVD  Si6mDULD
@ LG euerl

A) (1, 3)
Q) (-3, -1)

B) (-1, 0)
D) (0, 1)

41. The number of solution of the equation
SxHT—Vx—1=y4x—1 ig

A)0 B) 1 C)2 D)>2
Vx+1—yx—1=y4x—1 GT6OTM  FLOGOTLITLLQ 60T
Beyserfledr eTevorevolldhen s

A) 0 B) 1 Q2 D) >2

42.1f a, B are the roots of M(x* + x) + x + 5=10

and A, A, are two values of A for which o,  are

connected by relation %+g =4 then the value of

Al A _
AT
A) 254 B) 482
C) 784 D) 782
AR +X)+x+5=0 6TEDI LN & LD6OT LITL_1q 60T

ELNGLMBIGET o, B LOMMILD A, A, 6T6OTLIGI A- @)60T @) (B

G LIL|&H6T %+§=4 6TEOTMEUMMI eLPEVMHISGETT(H)

QBITLIL|6mL LIS 6T6vfl6v %Jr% -60T LDSLILY
A) 254 B) 482
C) 784 D) 782



43. The real value of X of
Vx+3—4yx—1+/x+8—6yx—1=1 is lies in

A) (4,5) B) [5, 10]
C) [4, 10] D) [4,5]
X-60T QU 6T600T LH LN DG
Vx+3—4/x—1+/x+8—6/x—1=1 6redTm &FLOGTUTE
IlemLOULD @ emL_Qeuerf]
A) 4, 5) B) 5, 10]
Q) [4, 10] D) [4, 5]
44. The sum of the real roots of the equation
x —6 -1
2 —3x x—3|=0 isequal to
-3 2x x+2
A)—4 B)0
o)1 D)6
x —6 -1
2 —3x x—3[=0 6le0TH &LOGOTLIML Q60T  GILOUL
-3 2x x+2
eLN GV IG5 6TT160T o (D) &6V
A) -4 B) 0
O 1 D) 6

45. If the equation x> +ax + 12=0; x> + bx + 15=0
and x> + (a + b) x + 36 = 0 have a common
positive root the value of a and b are

A)-7,-8 B)-8,-7
C)-5,-3 D) no values of a exist
X¥+ax+12=0;x>+bx+15=0 DM MILD

X¥+@+b)x+36=0 HW FOOTLTHEHEHSS
@M Qumgemer Wems  epeuld - @ LI Neor
a LnMMILD b -60T IDGHILIL]

A)-7,-8 B) -8, -7

C)-5,-3 D)a-&@& WHLIL| G)6Ven6v




